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Question Id : 9209065564 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

YN U TS dgR 31 9% ¢l fd: A wmfore fRufedi & v &1 wgi fasar s gl
o feufa @t firgan & sy &1 fafay wg g w@nafas g1 gHife v & fafiem wwi -
JeARY, G-, Weg, AT WX 31 debfeud YA firetd €1 Byl & o 3 fasedl § 9 gg 9 &1
TG HXAI BISA TE1 eIl fdvg 3 BV G U] &1 TS &4 R S HE9S il ¢

FAUYH B HINT & Saeadhdl =1 4T 41 faesht 41 & &9 H ggH & fou gidi 81y & Jrs
JRY 1 a1 & 3rH1d H Mgl Wifeai & forw 39 TS 9 WiEH1 ardd ®isA g Hifd derR §
yaferd & Ul § 9 98 s 3o &R [l 818, I8 9H=n o § 81 gux el & §i fdwedl & I 9
AT Y g 9 adsnf-ie grm|

Sub questions

Question Number : 1 Question Id : 9209065565 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Iugerd P H1 9g- Hife -

(1) T YNl &l HaGdhd (2) MY H s Y
(3) WIS I dpfedd UaNT (4) NI &7 Hegd
Options :

92090622001. 1
92090622002. 2
92090622003. 3
92090622004. 4

Question Number : 2 Question Id : 9209065566 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hig &I fddH g -

(1) J&H (2) 9
(3) HER 4) HEwd
Options :

92090622005. 1
92090622006. 2
92090622007. 3



92090622008. 4

Question Number : 3 Question Id : 9209065567 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YTNT 1 AFS ¥ R &1 a0 H ¢, FifP -

(1) WA & fag (2) oUR® feu
(3) HHA @ feu (4) 3 ST - YT &l UgH & forg
Options :

92090622009. 1
92090622010. 2
92090622011. 3
92090622012. 4

Question Number : 4 Question Id : 9209065568 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

doicds’ &1 faa| &1 g

(1) e 2) 3ETE
3) fdweu @) HErdds
Options :

92090622013. 1
92090622014. 2
92090622015. 3
92090622016. 4

Question Number : 5 Question Id : 9209065569 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YTST DI 4l a8 © -

(1) "EHDI (2) HHEISS HdeN &t
(3) HEA DI @) TS
Options :

92090622017. 1
92090622018. 2



92090622019. 3
92090622020. 4

Question Id : 9209065564 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

Y9 Ud GMfod agR @1 a%g ¢l od: faftm amfoe Rufadt & wmen &1 udi fasan o 8|
Ao fufadl &t firdal & e U &1 fafdy = g w@nfas 31 Seifery v & fafim wri -
IRV, o1, Ie5, A W 3% dadietd YA fAad g1 AIguTd & e 34 fawedi § § g5 & &
T HIAI BigA el aidl g P SRV Y HIN &1 HHG w4 FRR FAT AE99S gidl ¢

FAUYH HHE IS @1 a99dHdl =1 4N 37 faesi Uel & &9 H 9gH & o gidl 81 YTST & 7S
SR g1 g1 & 3rH1E § gl viftat & fore 39 waeen @ 9ieH eidd &fé4 g Jife sddgr §
yaferd Ul § 9 98 68 U SR [l SIS, T8 IHRN o ¢ 81 gux HINl & i fdswedl &1 a1 9
3= it sremagifie 9 aawfe g

Sub questions

Question Number : 1 Question Id : 9209065565 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Iy e o1 70 Hifory -

(1)  HIF YNl 1 HaZgehel (2) UNI®E LG =Y
(3) WIS I dbicdd WaNT (4) ¥ HIUgd
Options :

92090622001. 1
92090622002. 2
92090622003. 3
92090622004. 4

Question Number : 2 Question Id : 9209065566 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
DI BT faci g -
(1) J&H (2) Od

(3) @R 4) YEpd



Options :

92090622005. 1
92090622006. 2
92090622007. 3
92090622008. 4

Question Number : 3 Question Id : 9209065567 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YTNT 1 AFS ¥ R &1 a0 H ¢, FifP -

(1) WA & fag (2) oUR® feu
(3) HHA @ feu (4) 3 ST - YT &l UgH & forg
Options :

92090622009. 1
92090622010. 2
92090622011. 3
92090622012. 4

Question Number : 4 Question Id : 9209065568 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dehieddh’ P faad o1 ghm

(1) 3f=ard 2) HEES
3y fddeg (4) Wylids
Options :

92090622013. 1
92090622014. 2
92090622015. 3
92090622016. 4

Question Number : 5 Question Id : 9209065569 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(1)  WHEDI (2) THIfeIe SHdER St
(3) HEA R @) THH
Options :

92090622017. 1
92090622018. 2
92090622019. 3
92090622020. 4

Sub-Section Number : 2
Sub-Section Id : 920906177
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209065570 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feim, aem, goy, FRE 31 §R1 or Weg & $'5 [APR 30 ol gidl deardl 67

1y e @) fagmo
(3) 3™ (4) JTEI
Options :

92090622021. 1
92090622022. 2
92090622023. 3
92090622024. 4

Question Number : 6 Question Id : 9209065570 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feiv1, 99, goy, SRS SIS gRI ford Weg # Bis fadR I el gial Hgardl o7

1y e @ fagmo
(3) Y (4)  I0gT
Options :

92090622021. 1
92090622022. 2
92090622023. 3



92090622024. 4

Question Number : 7 Question Id : 9209065571 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 ¥ 3% UST @H IR $H-T1 Weg Tl 8T -

(1)  gHEiSE (2) UYRERE
3) iy @) ite
Options :

92090622025. 1
92090622026. 2
92090622027. 3
92090622028. 4

Question Number : 7 Question Id : 9209065571 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

98 ¥ T UoIT T4 TR &1H-91 Weg el gil -

(1)  gEfee ) URERE
(3)  Tifie 4) e
Options :

92090622025. 1
92090622026. 2
92090622027. 3
92090622028. 4

Question Number : 8 Question Id : 9209065572 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt | & A1y Gl 1| BT He Biforg -

el-1 (Tr6E) dl - (faem)
(A) Ttk (L
() daA (I s
© fafR (1 3
Dy wHd (V) 9rEd
i fau e fasedi & 9 Hel 3 &1 994 S
(1) (A)=(1), (B)-(1), (CY-(11), (D)-(1V)
(2) (A)=(1), (B)-(ID, (C)-(11), (D)-(IV)
(3) (A)-(l, (B)-(N, (C)-(11), (D)-(1V)
(4) (A)=(11), (B)=(1), (C)=(l1), (D)=(1V)

Options :

92090622029. 1
92090622030. 2
92090622031. 3
92090622032. 4

Question Number : 8 Question Id : 9209065572 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il | b Iy Gt 1| 1 e $ifer -

Tt-| (e Tt -1 (fae)
(A) & () oI
(®) dEA Iy 3e®
€ fafR (i 3
(D) Hd (V) 9|

i fou U fashedl | 9 el I &1 994 S

(1) (A)-(1), (B)-(1), (C)-(11), (D)-(IV)
(2) (A)-(1), (B)-(10), (C)-(In), (D)-(IV)
(3) (A)-(l), (B)-(1), (C)-(11), (D)-(IV)
(4) (A)-(, (B)-(I), (C)-(1), (B)-(IV)

Options :



92090622029. 1
92090622030. 2
92090622031. 3
92090622032. 4

Question Number : 9 Question Id : 9209065573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AU FUeR §

A @IS

B. Wg

C. T

D. 3Ieiad

E.  JeiUd

i fau v fasedi | 4 Tl I &1 99 Hifog :

(1) &dd A E

(2) &dd B, C

(3) &dd C, D

(4) &dd D,E
Options :

92090622033. 1
92090622034. 2
92090622035. 3
92090622036. 4

Question Number : 9 Question Id : 9209065573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A SIUH

B. g

C. WY

D. 3Iead

E. e

g {3 e fasedi § 9 98l Iav &1 984 Fifog -

(1) &dd A E

(2) &dd B, C

(3) &dd C,D

(4) &Hdd D,E
Options :

92090622033. 1
92090622034. 2
92090622035. 3
92090622036. 4

Question Number : 10 Question Id : 9209065574 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iR Pl I Jerevil 8 e Ry -

- gt -
(&) e n Ife
(B) ¥R (1 o EiE
€ T () TO7 Wi
(D) ¥ (v) < |

Hd fau e faedi © 9 G6l 3w &1 994 DI

1) (A)-(1), (B)-(Il), (C)-(1V), (D)-(I
2) (A)-(I1), (B)-(H, (C)-(IV), (D)-(I
3) (A)-(IV), (B)-(1), (C)-(IN), (D)-(I

(
(
(
(4) (A)-(IV), (B)-(1), (C)-(1), (D)-(N

)
)
)
)

Options :
92090622037. 1



92090622038. 2
92090622039. 3
92090622040. 4

Question Number : 10 Question Id : 9209065574 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iR B 7% IJeewil § faar i -
-1 -
(A o n g e
(8) @RI (1) TupEE
€ TEm (lny 707 |
(D) Wed (v) & |
A feu v fasedl | 9§ 9l 3T &1 99 BT
(1) (A=), (B)-(), (©)-(1V), (D)-(I1)
(2) (A=), (B)-(), (C)-(1V), (D)-(1)
(3)  (A)-(IV), (B)-(1), (C)-(I), (D)-(1)
4)  (A)-(IV), (B)-(1), (C)-(1), (D)-(ll)
Options :

92090622037. 1
92090622038. 2
92090622039. 3
92090622040. 4

Question Number : 11 Question Id : 9209065575 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¥d 3R W7 7 UF FUR § HHW: 218,000 TUT 272,000 Faw ) 3% Ay &1 aFU I
DifoTg|

(1) i B 2y 1:4
3 2:3 4 3:5
Options :

92090622041. 1
92090622042. 2
92090622043. 3
92090622044. 4



Question Number : 11 Question Id : 9209065575 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d 3R g9 A UF AUR H HAW: 18,000 7T 272,000 FI% fbu| 376 Ay &1 U F1d
ey

(1) 112 @ 1:4
(3) 233 4 3:5
Options :

92090622041. 1
92090622042. 2
92090622043. 3
92090622044. 4

Question Number : 12 Question Id : 9209065576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
afg ol ga @ uRkfY v wHeETg Ay & URAY & a8, 91 396 A &1 U § ;

(M AB3:27 @ z:2
(3) 27 :43 @ W3
Options :

92090622045. 1
92090622046. 2
92090622047. 3
92090622048. 4

Question Number : 12 Question Id : 9209065576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ofe; st g &1 offel uer grag Y & URE™ & SRIeR 8, d1 3% &Fhal &1 U ©

() 3:27 @ z:23
(3) 27:43 @ 33
Options :

92090622045. 1
92090622046. 2



92090622047. 3
92090622048. 4

Question Number : 13 Question Id : 9209065577 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR &1 G2 315,800 D AR 5 I8 H 221,725 81 75 | =41 foog anftfes o= 9 femr mare

(1) 6% (2) 6.5%
(3) 7% (4 7.5%
Options :

92090622049. 1
92090622050. 2
92090622051. 3
92090622052. 4

Question Number : 13 Question Id : 9209065577 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR &1 G2 315,800 D AR 5 I8 H 221,725 81 75 | =41 foog anftfes o= 9 femr mare

(1) 6% (2) 6.5%
(3) 7% (4 7.5%
Options :

92090622049. 1
92090622050. 2
92090622051. 3
92090622052. 4

Question Number : 14 Question Id : 9209065578 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UF GFF I U 1 ¢ | T8l W 3ifdhd ged &1 S1dl 12% 9 ) aul ifded 5eg &1 07 15% 98
fa@ 38 €1 TR 71 10 SITGET 3R 3 T7 WIS | 9d & IRumasy 39&1 fbal 9dd gs7

(1) 2165 (2) %105
(3) 278.50 (4) 7350



Options :

92090622053. 1
92090622054. 2
92090622055. 3
92090622056. 4

Question Number : 14 Question Id : 9209065578 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U P IR A T 81 8T W Hfdvd Ted B ST 12% 7 W T 3Afbd Hed BT U 15% T W
ﬁﬁﬁ%wﬁmﬁﬂmaﬁuﬁ?@g A & URUIEEEY JH! fha-it 99d gs?

(1) 2165 () 105
(3) ¥78.50 (4) T7350
Options :

92090622053. 1
92090622054. 2
92090622055. 3
92090622056. 4

Question Number : 15 Question Id : 9209065579 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

17 g59 U1 4 Afgad 7 G 7 2 3,780 W Uhd ¢ | TRE JON ayl 13 Aigand 8 f&3 # 2 15,040 &1
Ad © | fora SHA H 7 JBE U1 9 ARG 212,400 T T

(1) 25f&a @ 20fe=
(3) 1sfeq @ 10fe=m
Options :

92090622057. 1
92090622058. 2
92090622059. 3
92090622060. 4

Question Number : 15 Question Id : 9209065579 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



17 w4 Afgand 7 7G4 F 2 3,780 HH Gdhd &1 TRE Y9N aul 13 Higam 8 fa3 § 2 15,040 &1
T&d ¢ fha- gma o 7 g5y qu1 9 A 312,400 AT &7

(1) 25fea @ 20fe=
3) 15fga @ 10f&=
Options :

92090622057. 1
92090622058. 2
92090622059. 3
92090622060. 4

Question Number : 16 Question Id : 9209065580 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfg F1r & AR JH &I, HEE B GG JH G, G- & ;T 6, e & 98
Ol 9Y| a4 A5 1 9 59 31 &us €i[=r 91 Smem?

(1)  HaEA (2) el
(3) Hga (4) &l
Options :

92090622061. 1
92090622062. 2
92090622063. 3
92090622064. 4

Question Number : 16 Question Id : 9209065580 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ol WY | a4 9 1 9 {59 31 &us €[ 91 Smem?

(1)  HaEA (2) el
(3) Heq (4) &l
Options :

92090622061. 1
92090622062. 2
92090622063. 3
92090622064. 4



Question Number : 17 Question Id : 9209065581 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qf ¥ &1 HTE PAR ¢, W1, FUR D1 95 ¢, WK &1 HIS o ¢ AR I, 1 31 81 g
a9 PHR 3R a9 & o1 1 Hay g7

(1) oI 3R Ydta (2) feg
(3) ol 3R 37 (4) W - T
Options :

92090622065. 1
92090622066. 2
92090622067. 3
92090622068. 4

Question Number : 17 Question Id : 9209065581 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe; ¥ BT YT FUR ¢, U9, PAR DI 98 ¢, Y &1 UTS 4 ¢ AR G, T &t 921 g
a9 PR 3R d9 & o1 1 HaY g2

(1) =TE 3R Y () Hfog
(3)  Ycltol 3R 3ifét (4) WIS - T84
Options :

92090622065. 1
92090622066. 2
92090622067. 3
92090622068. 4

Question Number : 18 Question Id : 9209065582 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 fau 7o Sy 3R Al & ey R Ffaiad uyi & 3o e

TY: S U, UiPe gl
&5 Ulbe, U139 el o

frepd . | & o TS A B

Il. T8 Id, I39 el

lIl. TS Uihe, I8 TS B

Iv. @IS didee 4dl el gl
(1)  ad A=pY & | UTa HIal gl
(2)  ad Il AR 1 T U S g
(3)  ad | 3R IIl BT UIa Sl g

(4)  dd |1 T IV DT Ia Bl gl

Options :

92090622069. 1
92090622070. 2
92090622071. 3
92090622072. 4

Question Number : 18 Question Id : 9209065582 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 fau U ST 2R el & ey R Ffafad uyi & I Sifen

FYF: FS U, Ulde gl
IS Uldbe, UI3d el el

fepef . | &S e, TS TR B
Il. 9 4d, U¥a 1l &
Il. TS Uide, Id T4 g
Iv. BTS Ulhe daT gl g1

(1)  ad (=pY & | O $Il g
(2) a1l 3R 1 BT U HIAT gl

(3)  had | M Il BT UTA4 Sl g
(4)  &ad | T IV &1 UTaH Sl g

Options :

92090622069. 1
92090622070. 2
92090622071. 3



92090622072. 4

Question Number : 19 Question Id : 9209065583 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafEa FuE! R eEuRome R faar &= Pl Fin e @5 @t sy, $y= § satied g
U XYZ B P IR T 391 ST g1 &l S U e Bl

HEYRUN: |. dg, 39 Fa9 & g1 3o 9 gl
AAYURUN: |l dg, 39 Moy & @Y und &1 9hdl ¢

(1)  &ad | GURY g SHdfled g
(2)  Had Il AGUROT & Safed gl
(3) EFEI AN aFfed gl
(@)  &FneiR i H fafiied gl

Options :

92090622073. 1
92090622074. 2
92090622075. 3
92090622076. 4

Question Number : 19 Question Id : 9209065583 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad FY=1 <R @uRmei R faur &2 Fiid $ifen e S O s@uron, $y=F § satied g
Y XYZ B R H 391 il g1 &l S U e Bl

HIYRUT: |. g%, 39 Faw H g1 31 9 gl
EYURVN: |l dg, 39 Faw & @y und & 95dl ¢

Had | YRV &1 affed g

(1

)
(2)  had Il FYRN & afHRd gl
(3) eFEI I aHfed gl
@)  aFr e Efifga 8l
Options :

92090622073. 1
92090622074. 2
92090622075. 3



92090622076. 4

Question Number : 20 Question Id : 9209065584 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& TS Y@an F 3ATET ug Jd Hifonu|
1,3, 6, 18, 36, 108, ?

(1) 210 2y 212
(3) 214 (4) 216
Options :

92090622077. 1
92090622078. 2
92090622079. 3
92090622080. 4

Question Number : 20 Question Id : 9209065584 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

21 TS 4@al § 2Tl Ug J1d Hife|
1,3, 6, 18,36, 108, ?

(1) 210 2y Z12
(3) 214 (4) 216
Options :

92090622077. 1
92090622078. 2
92090622079. 3
92090622080. 4

Question Number : 21 Question Id : 9209065585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forg daenfe duitem & grT el & faurgw &t gwon & 182

(1) 65 di 99 (2) 69 g 9ENeH
(3)  72diGENA (4) 76 di GENYH



Options :

92090622081. 1
92090622082. 2
92090622083. 3
92090622084. 4

Question Number : 21 Question Id : 9209065585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fpg daunfre duied & g1 e | fauray &1 gmon &1 1s2

(1) 659 TIeT (2) 69 i GMmYH
(3) 724 guiyH (4) 76 di T=MeH
Options :

92090622081. 1
92090622082. 2
92090622083. 3
92090622084. 4

Question Number : 22 Question Id : 9209065586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it | & Ty gl 1| 1 e S

l-| (3Ude) gl -1 (Heiftra)

Ay Tgdq (y ofsfy
(B) WMdg () G Ha
(C) 3MYddq () e Ud G
(D) g (IV) arehe

4 fau U faedi § § Tl IR &1 991 BT

(1) (A)-(I), (BY-(I), (C)-(1), (D)-(IV)

(2) (A)-(I), (BY-(I), (C)-(I\V), (D)-(1)

(3) (A)-(I), (B)-(I1), (C)-(IV), (D)-(1)

(4) (A)-(IV), (B)-(1), (C)-(11), (D)-(11)

Options :

92090622085. 1
92090622086. 2



92090622087. 3
92090622088. 4

Question Number : 22 Question Id : 9209065586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it | 6 |1y gl 1| T e S|

Tt (359 Tt -1l (et

(A)  TYdG (1 ofefy
(8) HWdg (1) gz el
(C) 3yddg () e ud G
(D) g (Iv) TRgea

Hid fau 7T fahedi § 4 et IR &1 9894 DI

(1) (A)-(I), (B)-(11), (C)-(1), (D)-(IV)

(2) (A)-(I), (BY-(11), (C)-(IV), (D)-(1)

(3) (A)=(l1), (B)=(I1), (C)-(1V), (D)-(1)

(4) (A)=(IV), (B)=(1), (C)-(11), (D)-(l1)

Options :

92090622085. 1
92090622086. 2
92090622087. 3
92090622088. 4

Question Number : 23 Question Id : 9209065587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

LRI EaRIC e o A1

(1) S SRsHidEe 2) R AHFES
(3)  FIScIeH WS 4) EcH MRS
Options :

92090622089. 1
92090622090. 2
92090622091. 3
92090622092. 4



Question Number : 23 Question Id : 9209065587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s T ETEAEaH_ ®I

(1)  ARCIoH SRS (2) TER® siass
(3)  Agered WaHldES (4) TEed IS
Options :

92090622089. 1
92090622090. 2
92090622091. 3
92090622092. 4

Question Number : 24 Question Id : 9209065588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
wadl 2023 #, YR Rod de & Ta-R B 47

(1) WY HHEH (2) Jfldged
(3) Sl g=d (4) T TS
Options :

92090622093. 1
92090622094. 2
92090622095. 3
92090622096. 4

Question Number : 24 Question Id : 9209065588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sad 2023 H, 4R Rerd d & Ta-R B4 42

(1) ¥ & (2) Sfeldged
3) Sl gsERd (4) THIH TS
Options :

92090622093. 1
92090622094. 2



92090622095. 3
92090622096. 4

Question Number : 25 Question Id : 9209065589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 2024 IS Gl D Hear BRI &1 Sar |
(1) <l (2) @Yo
(3) uRw @ 9
Options :

92090622097. 1
92090622098. 2
92090622099. 3
92090622100. 4

Question Number : 25 Question Id : 9209065589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YieHeTeli 2024 fTcifys Well B Hofari FARUCaRT il

(1)  <a (2) g Tolcd
(3) uR= @) 39
Options :

92090622097. 1
92090622098. 2
92090622099. 3
92090622100. 4

Part B: Life Science

Section Id : 920906112
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and Clear

Response : Yes



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 920906178
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 9209065590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which radio isotope is used to label the 5’ end of DNA or RNA?

(1) 325 {'2} BEP
{3} 14C [4} 'IEC
Options :

92090622101. 1
92090622102. 2
92090622103. 3
92090622104. 4

Question Number : 26 Question Id : 9209065590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST U YA R AT SF 5 BR I AHUET B & g oA 9§ Al gawifA® &1 ugn
forar STen &7

'[“HI 325 {2} EEP
{3} MC [4} 'IZC
Options :

92090622101. 1
92090622102. 2
92090622103. 3
92090622104. 4

Question Number : 27 Question Id : 9209065591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Two-dimensional electrophoresis resolve the proteins on the basis of :

(1) Net mass and osmotic pressure (2) Net viscosity and volume
(3) Net charge and mass (4) Net charge and volume
Options :

92090622105. 1
92090622106. 2
92090622107. 3
92090622108. 4

Question Number : 27 Question Id : 9209065591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fe-Smarl dggd SUl HaaH, Wi &l fdd snyR W faufed s g2

(M A2 SeIHME 9Y1 3ATHICH gl (2) e Gl Ul {Tdq
(3) = 3199 9yl A (4) A AW qUT 3T

Options :

92090622105. 1
92090622106. 2
92090622107. 3
92090622108. 4

Question Number : 28 Question Id : 9209065592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Differences in absorption of left and right handed circularly polarized light is measured by:

(1) NMR Spectroscopy

(2) Mass Spectroscopy

(3) CD Spectroscopy ( Circular dichroism spectroscopy )
(4) U V —vis Spectroscopy

Options :

92090622109. 1
92090622110. 2
92090622111. 3



92090622112. 4

Question Number : 28 Question Id : 9209065592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gﬁamaléw d1et 9 Yfdd yeT & iAo o1 Ar9d g 7 4 69 & R fear e
?

(1) U UH 3R Wi

) FEIRIERSCIRE

@3 W S @da Rala Qe
(4) g di - fau Wit

Options :

92090622109. 1
92090622110. 2
92090622111. 3
92090622112. 4

Question Number : 29 Question Id : 9209065593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The radiation source in TEM ( transmission electron microscopy ) is :

(1) UV - light (2) Electron beam
(3) Visible light (4) Microwaves
Options :

92090622113. 1
92090622114. 2
92090622115. 3
92090622116. 4

Question Number : 29 Question Id : 9209065593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A, <. o, (R soideiE geraiien # fafevur &1 uia 7 82

(1) ORTETHT Ul (2) Sad [l gal
(3) =9 Ut (4) [eAaH]
Options :

92090622113. 1
92090622114. 2
92090622115. 3
92090622116. 4

Question Number : 30 Question Id : 9209065594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Full form of MALDI — MS is :

(1) Mass - assisted local degradation / ionic mass spectrometry.

(2) Mass — assisted local desorption / inosine mass spectrometry.

(3) Matrix — assisted light deviation / ionization mass spectrometry.

(4) Matrix — assisted laser desorption / ionization mass spectrometry.
Options :

92090622117. 1
92090622118. 2
92090622119. 3
92090622120. 4

Question Number : 30 Question Id : 9209065594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MALDI - MS ST QUi &U g -

(1 SO — FEHIATIIG RIFTY S{aayur / Saife soadq Waeamfa
(2) SoOH — YeTadTe R f[ARiyor / sioaiy goaaH Weaeamifa
3)  SHTYE — GeTgdIvI UH fader / S SoaH WaeHHd

(4) SHTE — HETATIT Ao fa=iNuT / S GoauH WaeHifd

Options :



92090622117. 1
92090622118. 2
92090622119. 3
92090622120. 4

Question Number : 31 Question Id : 9209065595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most distinctive feature of phylum: Echinodermata is the presence of ‘Water Vascular
System’, which helps in:

(1 Locomotion

(2) Capture and transport of food

(3) Respiration

(4) Locomotion, capture and transport of food and res piration
Options :

92090622121. 1
92090622122. 2
92090622123. 3
92090622124. 4

Question Number : 31 Question Id : 9209065595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

quf SPIgTeYHel & Uaiide fafly dam § oid Uded dF &1 Juffa, off g # 9 fead
HERIAT UaH &Xdl 67

(1) THA
(2) 1] B Ub el ayl Hdg- &l
(3) CRE|

(4) A, YIS &1 UH S ayl Hdg &A1 SR 4591

Options :

92090622121. 1
92090622122. 2
92090622123. 3
92090622124. 4

Question Number : 32 Question Id : 9209065596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The hormone which stimulates an appetite is :

(1) Insulin (2) Leptin
(3) Ghreein (4) PYY hormone
Options :

92090622125. 1
92090622126. 2
92090622127. 3
92090622128. 4

Question Number : 32 Question Id : 9209065596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DI IS & B FeiTdd Bl g2

1 Z=gfer 2 A
@)  AfeE (4) . 9. 9. g
Options :

92090622125. 1
92090622126. 2
92090622127. 3
92090622128. 4

Question Number : 33 Question Id : 9209065597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Name the Nobel awardee, who provided the first direct evidence that different genes are

physically Located on the same chromosome by X — linked pattern of inheritance in
Drosophila.
(N Gregor Mendel. (2) T.H. Morgan.
(3) H.J. Mullar. (4) Woatson and Crick.
Options :

92090622129. 1
92090622130. 2
92090622131. 3
92090622132. 4



Question Number : 33 Question Id : 9209065597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 Aldd QeR faudl & ¢ ol I8 ygy wieg faa & gifeen 7 fafia Sia
SIS & X-Feadd Ufaey & R Ud g1 URE R Hifds E 9 d R gid 82

(1) IR Had () @ A
3) Td. o, 7o (4) dicad aul e
Options :

92090622129. 1
92090622130. 2
92090622131. 3
92090622132. 4

Question Number : 34 Question Id : 9209065598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the end product in the process of glycolysis in anaerobic and aerobic condition
respectively?

(1) Pyruvate and 3 - phosphoglycerate
(2) Lactate and phosphoenol pyruvate
(3) Lactate and pyruvate
(4) Pyruvate and lactate

Options :

92090622133. 1
92090622134. 2
92090622135. 3
92090622136. 4

Question Number : 34 Question Id : 9209065598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS ST @1 Ufshar H SHI: Ergary auT argdry fRufadt # sifan Ide &1 811 &2

(1) UgEde dul 3-BERITaee (2) Wdee aYUl BIERISAd Urgsde
3) Tgee 9yl Uasde (4) UHde aul daee

Options :

92090622133. 1
92090622134. 2
92090622135. 3
92090622136. 4

Question Number : 35 Question Id : 9209065599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following secretes Progesterone hormone?

(1) Leydig cells (2) Corpus luteum
(3) Sertoli cells (4) Graffian follicle
Options :

92090622137. 1
92090622138. 2
92090622139. 3
92090622140. 4

Question Number : 35 Question Id : 9209065599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UIGRE A ATHe g1 &1 |qul 9 7 9 {69 & gR1 a1 5 82

1) RiEUEAIPEaL 2) &9 fead
(3) el HIRHI0 (4) BT Bifcda
Options :

92090622137. 1
92090622138. 2
92090622139. 3
92090622140. 4



Question Number : 36 Question Id : 9209065600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two envelope spikes in influenza virus HA & NA stands for

(1) Hemagglutinin and calnexin
(2) Hemagglutinin and neulaminadase
(3) Hemoglobin and neuroserpine
(4) Heme and nexim
Options :

92090622141. 1
92090622142. 2
92090622143. 3
92090622144. 4

Question Number : 36 Question Id : 9209065600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sucqu fawmyy & g srareld Tse Ta ¢ ayn vA ¢ foeds fere uger gid 82

(1) R 9Yg ayl sl 2) SRR g 9y FWHA3Y
3) erarale qur R (4) BIF Y1 sieiEre 9id
Options :

92090622141. 1
92090622142. 2
92090622143. 3
92090622144. 4

Question Number : 37 Question Id : 9209065601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The polar head group in sphingomyelins is composed of :

(1) Glycerol or ethanolamine
(2) Serine or glycerol
(3) Phosphocholine or phosphoethanolamine

(4) Cholesterol or sterol



Options :

92090622145. 1
92090622146. 2
92090622147. 3
92090622148. 4

Question Number : 37 Question Id : 9209065601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fmrafer 7 ydia ve wg e @ f5ud gri e dar g2

(1 ferRRTe stuar s8-TasmrE

(2) Qi sryar feRRTa

3) BB YAl BITh IS UATaSHIS
4) DRI 3Ydl WRId

Options :

92090622145. 1
92090622146. 2
92090622147. 3
92090622148. 4

Question Number : 38 Question Id : 9209065602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following statement is incorrect about gel electrophoresis?

(1)  Proteins or nucleic acid fragments are separated based on their net charges and
mass

(2)  Differential migration of these molecules through agarose gel or polyacrylamide
gel, in which small particles moves slowly to resolve better

(3) Electrical charge that is on DNA molecule help them to move towards the anode

(4)  Migration of small DNA fragments through gel is quickly.

Options :

92090622149. 1
92090622150. 2
92090622151. 3
92090622152. 4



Question Number : 38 Question Id : 9209065602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S dggd HUI Hga- & fawg § g & 9 &1 11 &Y= 7Tdd 87

(1) ﬁm%ﬂmﬁﬁﬁamﬁﬂaﬁmﬁa&n?ﬁﬁmmﬂ & SMYR TR gy fbar
SEIg!

(2) TN 99 Sydl Uieliufshanigs Sd & gRI 34 3U[3f &1 fand) s, fed Bie
HU dgaR fagieH & & o 0 I A FRA B

(3) ST T U R Ur 741 fdggd M1a 3% TAIS &1 oW 04 B34 § Herdd &l ¢ |
(4) BIC ST G B AFTHA oIt & HIegH I @Rd 4 9 gidl g

Options :

92090622149. 1
92090622150. 2
92090622151. 3
92090622152. 4

Question Number : 39 Question Id : 9209065603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Bryophytes:

(1) Sporophyte is fully or partially dependent on gametophytes

(2) Xylem and phloem are the main water and food conducting tissues
(3) Spore dispersal takes place by means of peristomial teeth only

(4) Heterospory and seed habit evolved in higher bryopyte

Options :

92090622153. 1
92090622154. 2
92090622155. 3
92090622156. 4

Question Number : 39 Question Id : 9209065603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SHAETSe |

() oo 3fEE gul a1 o U I gudiiag W AR Sarg

)  SISaH aY BaNd od gyl HisH &1 91d- S ald G SHad 8
3)  SIie @1 UER $aa uigdiy <fidl gr1 & g g g

@) I dEwEe § [quy diiedl aul 919 Siegd &1 [de™ gl 8

Options :

92090622153. 1
92090622154. 2
92090622155. 3
92090622156. 4

Question Number : 40 Question Id : 9209065604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Self incompatibility prevents self fertilization and this mechanism involves:

(1)  Si — pollen grain from an 5, S; parental sporophyte cannot fertilize eggs of an

S1 52 flower
(2) S1— pollen grain from an 51 Sz parental sporoptytes can fertilize eggs of an 51 5z
flower
(3) Sz pollen grain can fertilize eggs of 51 52 and Sz Sa flower
(4) S1 — pollen grain from an S1 Sz parental sporophytes can fertilize eggs of an S1 53
flower

Options :

92090622157. 1
92090622158. 2
92090622159. 3
92090622160. 4

Question Number : 40 Question Id : 9209065604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- 3T, W-F8E &1 Al & du1 39 feanfafy & A afdfea gar g
(1) %%ﬁmmdmmaﬁaﬁiwmma S QW & 3f8 &I Fufd 78 &R

2)  S1-S1 S OHFD GRI I0A diviis Ihda & W Ul fddll 5, S, Y & 3fg &I A8k
B HPA g

(3)  S:-WRFTHUIS S, AUT S, S: 0 & 318 i f8fa & §dhd §

4) S -TEd s, s; OFF gRI I divig Ihgd F W HU B S, S; U & 34 B
fifRg s add &

Options :

92090622157. 1
92090622158. 2
92090622159. 3
92090622160. 4

Question Number : 41 Question Id : 9209065605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the composition of membrane attack complex in complement systems?

(1) Ci—Ca—Cas—Cs—-C7
(2) Cst — Cab— Co9— Csg— Can
(3) Cip—Cy—Cap—C1-C3
(4) Csb—Ce—C7—Cg—Co

Options :

92090622161. 1
92090622162. 2
92090622163. 3
92090622164. 4

Question Number : 41 Question Id : 9209065605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R oA | fareet sy wfty &1 YaieH o 82

(1) Ci—Caw—Ca—Ce—Cr
(2) Csb—Cap— Cos— Css— Cap
(3) Caib—Coo—Can—C1-G3
(4) Csb—Cs—C7—Cs—Ca

Options :

92090622161. 1
92090622162. 2
92090622163. 3
92090622164. 4

Question Number : 42 Question Id : 9209065606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which molecule, ATP does not donate?

(1) Phosphorye groups (2) Deoxyriboxyl group
(3) Phosphoryl groups (4) Adenylyl groups
Options :

92090622165. 1
92090622166. 2
92090622167. 3
92090622168. 4

Question Number : 42 Question Id : 9209065606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 3 A 3] 1 g9 el BN

(1)  BIEsd 9458 2) Tesifaiiveia g
3) IR B I (4) ufAferd g
Options :

92090622165. 1
92090622166. 2
92090622167. 3
92090622168. 4



Question Number : 43 Question Id : 9209065607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which microorganism produces dextran?

(1) Clostridium acetobutylicum

(2) Leuconostoc mesenteloides

(3) Bacillus subtilis

(4) Enterobactel aeogenes
Options :

92090622169. 1
92090622170. 2
92090622171. 3
92090622172. 4

Question Number : 43 Question Id : 9209065607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DI F1 YeHGldl SHCI I0d FHdl 87

(1) FIRCNSTH UlcTigCTzlcidd Q) HiREIE Heaiaey
3) Feficry galeirg 4) TRIdgET oy
Options :

92090622169. 1
92090622170. 2
92090622171. 3
92090622172. 4

Question Number : 44 Question Id : 9209065608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In chloroplast, ATP generation by chemiosmosis mechanism involves:

(1) The diffusion of hydrogen ions from stroma to stroma in the presence of light
(2) The diffusion of hydrogen ions from thylakoid to another thylakoid space

(3)  The diffusion of hydrogen ions from the stroma space to thylakoid thorough ATP
synthase complex

(4)  The diffusion of hydrogen ions from the thylakoids space back to the stroma
through ATP synthase complexes

Options :

92090622173. 1
92090622174. 2
92090622175. 3
92090622176. 4

Question Number : 44 Question Id : 9209065608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gid Tae | TRl fanfaft & fg & @ @ wimferd gidr g2

(1) TSI &1 IufYTA 7 grgsie gl &1 difd st e difgewt fawru g g
() TP UEAHIOS ¥ GO 50 108 A T g13s o -l &1 fawRu
3) difge wd § ygdsigs § v & O Ry afiy gr1 omaHi &1 faamu

(4) U 2 4l gy afil gri ergeieH Al &1 Ugddds ®d 4 aifuy difser o
faaRor

Options :

92090622173. 1
92090622174. 2
92090622175. 3
92090622176. 4

Question Number : 45 Question Id : 9209065609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is correct about RNA interference (CRNAI)?

(1)
(2)

(3)

(4)

RMNAI take place in all prokaryotic organisms as a method of cellular defense.

RNAi involves silencing of a specific mRNA due to a complemantary dsRNA
molecule that bund to and prevent translation of the mRNA

RNAi involves silencing of all types of RNA due to a complementary ds RNA
molecule that bind to and prevents translation of the mRNA.

RNAi involves silencing of a specific mRNA by the host cell itself due to
overproduction of mRNA by sense strand.

Options :

92090622177. 1
92090622178. 2
92090622179. 3
92090622180. 4

Question Number : 45 Question Id : 9209065609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3R U U AfIHI0N (RNAI) & faug # - § 8§ &9 |1 HY T8l 82

(1)
(2)

(3)

(4)

St Uidh s wiidl HIRG Y&l D1 U [T & 9 H RNAI H1 Bl &

U& [P dsRNA 30 & HRUI RNAI T U AP mRNA &1 ARaar affiferd gl 8 o
3 mRNA & 91Y €Y ST IHS WMl &1 AR &l 8

U R dsRNA U] & HRUT RNAI B 4 TSR & RNA D TRadr e gidt § ot
I 1Y ¢ FAIdT € dUT mRNA & RIFIG &1 FARf8d Far g

RNAI H OISl SR gR1 f6dl [ARI mRNA &1 ARadr g gidl § o i ddct
dq3ff R mRNA & 3(fd-Id1e & SR il 8

Options :

92090622177. 1
92090622178. 2
92090622179. 3
92090622180. 4

Question Number : 46 Question Id : 9209065610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The precursor molecule for the synthesis of Vitamin Dz in human skin is

(1) Prednisolone (2) 7 - dehydrocholesterol
(3) Estradiol (4) Isoprene
Options :

92090622181. 1
92090622182. 2
92090622183. 3
92090622184. 4

Question Number : 46 Question Id : 9209065610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a9 § faerf®F p; & Syl & o gdadf s —— 81
1 PECINIRIE] 2 7-SERgIsaRd
3)  UxISSa (4) mgEE

Options :

92090622181. 1
92090622182. 2
92090622183. 3
92090622184. 4

Question Number : 47 Question Id : 9209065611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In photoperiodism, long day plant flowers only :

(1) If the night is longer than a critical dark period

(2) If the night is sorter than a critical dark period

(3) A flash of light interrupting the dark period prevents flowering

(4) A light period of less than 8 hours is sufficient for the plants to flower.
Options :

92090622185. 1
92090622186. 2
92090622187. 3
92090622188. 4



Question Number : 47 Question Id : 9209065611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Afremiera 7 Syt Y & Yo Had aH T g

(1) e ufl e sifde srdied ora J st ddl 3

2 e IR e wifds adia H1a W s i 8

3) A BTl H AU ITA B dlell YT 1 TPl Y8 bl RIS Bl 8
(4) 8 Hel | w1 YabTRl Safy gyl # qo- & e v ¢

Options :

92090622185. 1
92090622186. 2
92090622187. 3
92090622188. 4

Question Number : 48 Question Id : 9209065612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Geitonogamy is a type of pollination, in which :

(1) Transfer of pollen grains from anther to the stigma of a different plant
(2) Tranfer of pollan grains from anther to the stigma of chasmogamous flower
(3)  Tranfer of pollen grains from anther to stigma of another flower of the same plant

(4) Tranfer of pollen grains from anther to stigma of another of cleistogamous flower

Options :

92090622189. 1
92090622190. 2
92090622191. 3
92090622192. 4

Question Number : 48 Question Id : 9209065612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HATaYedt URATOT THT URATY] & forers

(1) TR &1 WSl § Rl fim 91 ¥ emite & wEiaR gar e

(2) WRATHUI BT IRATHU] ¥ A IR U & Fardiess H RIFa gldl &

()  TRITEU &1 W I 0 & R oy & st A R g 8
4)  TRTTHUT B WA @ i Wi qsy & o Famfeg d €T 2

Options :

92090622189. 1
92090622190. 2
92090622191. 3
92090622192. 4

Question Number : 49 Question Id : 9209065613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Citronella oil is obtained from

(1 Linum usitatissimum (2) Glycine max
(3) Cymbopogon nordus (4) Elaeis guineensis
Options :

92090622193. 1
92090622194. 2
92090622195. 3
92090622196. 4

Question Number : 49 Question Id : 9209065613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ry dd fva 9 U favan i &

(1) AETH gHieeN T (2) TEHT iR
3) FrIginT FIsd 4) Sforawg iR
Options :

92090622193. 1
92090622194. 2
92090622195. 3
92090622196. 4



Question Number : 50 Question Id : 9209065614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is not the heteropolysaccharide of extra celluer matrix in multicellular animals?

(1) Hyalurtonan (2) Keratan sulfate
(3) Keratin (4) Heparin
Options :

92090622197. 1
92090622198. 2
92090622199. 3
92090622200. 4

Question Number : 50 Question Id : 9209065614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & A D11 W SgIRE T Sigei & HIREER e & fAvnegiaiss 181 g7

(1) ARG EE! (2) e abe
3) e (4) TPlcH
Options :

92090622197. 1
92090622198. 2
92090622199. 3
92090622200. 4

Question Number : 51 Question Id : 9209065615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is one of the possible hazards of genetically modified (GM) crops?

(1) Modified genes of herbicide resistance from GM crops get into weed plant through
pollination and this plant might become resitant to herbicide and so become a
"Superweed".

(2) There is no possible hazard known till date, regarding transfer fo any genes between
the plants.

(3) Production techniques of GM crops is proof and genetic engineering offers the
advantage of transferring on those genes that are required

(4) Production of GM crops may replace the existing germplarm

Options :

92090622201. 1
92090622202. 2
92090622203. 3
92090622204. 4

Question Number : 51 Question Id : 9209065615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT w9 9 arufvafda =i 8 Fo ¥ 8 319 o guiidd geel § 9 U6 87

(1) GRS &9 9 suRafda 2wl & et uiddy ard smafafda ofF, e gri fadt
WIaR ¥ UaY R GFhd § R I uier et ufaddt €9 o) § 39 USR UF i
EAaR’ (URAI8) &5 Gl ¢

(2) TTefT & oii+1 & SIFia0 & fawg & 2ndt a6 foed Suifaa dee & faug & 39 781 81

(3)  HHEIRS 9 ¥ smuRafid Il @1 IuTe ddb-ic Geay ¢ auT Hais sel-ai Had
IS S & RIHTRYE §H T arH 81 Ugd el g

(4) HIAiIE 4 § uivatdd Il &1 Jdred Hieal orsed & WiaeIitd & gadl g |

Options :

92090622201. 1
92090622202. 2
92090622203. 3
92090622204. 4

Question Number : 52 Question Id : 9209065616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A nerve impulse in transmitted from one neuron to another through junction called :

(1) Dendrite (2) Synapse
(3) Axon (4) Impulse
Options :

92090622205. 1
92090622206. 2
92090622207. 3
92090622208. 4

Question Number : 52 Question Id : 9209065616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U A Hdg U R 4 gor 1 Tiel & R RIFiaRd gidl ¢ | 331 9 &1 Hed gl
(1) S=Ee (2) WETH
(3) T (4) SHUAH

Options :

92090622205. 1
92090622206. 2
92090622207. 3
92090622208. 4

Question Number : 53 Question Id : 9209065617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Application of genetic finger printing is not directly linked with :

(1) |dentification of suspects (2) Species conservation
(3) Determining paternity (4) Property disputes
Options :

92090622209. 1
92090622210. 2
92090622211. 3
92090622212. 4

Question Number : 53 Question Id : 9209065617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

ARG e 319 &1 SRWERT vded: fhad dds el 62

(1 dfem safad ®f ugaH (2) wdiefte geemon
(3) Ygdhar FuRo (4) Hafa Jedt Ire/faag
Options :

92090622209. 1
92090622210. 2
92090622211. 3
92090622212. 4

Question Number : 54 Question Id : 9209065618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Extra nuclear genomes of mitochondria and chloroplasts have evolved from :

(1 Matural selection (2) Adaptive radiation
(3) Heteroplasmy (4) Endosymbiosis
Options :

92090622213. 1
92090622214. 2
92090622215. 3
92090622216. 4

Question Number : 54 Question Id : 9209065618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AeID -0l 7Yl iNd Ta® &1 hsbard aHH (oad faeiid g1 g2

(1) PICAGREACRE 2) Pl fafdo
(3) fawagaH (4)  3id Fgaliad
Options :

92090622213. 1
92090622214. 2
92090622215. 3
92090622216. 4



Question Number : 55 Question Id : 9209065619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the template strand of a segment of a gene has the nucleotide sequence 3' = GCTAAGC - 5,
What nucleotide Sequence will be present in the RNA transcript specified by this gene segment?

(1) 3' - GCTAAGC -5’ (2) 5 -CGAUUCG-3'
(3) 3 - CGATTCG -5 4) 5 -CGATICG-3'
Options :

92090622217. 1
92090622218. 2
92090622219. 3
92090622220. 4

Question Number : 55 Question Id : 9209065619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g farddt o7 € & cae dg o Ifdadiess &4 3' - GCTAAGC - 5' ¢ d 39 o grI faffdy
e H o1 Yfeeierss e Jured g

(1) 3' - GCTAAGC -5 (2) 5 -CGAUUCG-3
(3) 3' - CGATTCG -5 (4) 5 -CGATTCG-3'
Options :

92090622217. 1
92090622218. 2
92090622219. 3
92090622220. 4

Question Number : 56 Question Id : 9209065620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 chain is present in :

(1) I5E (2) 1A
(3) l5G (4) 1D
Options :

92090622221. 1
92090622222. 2
92090622223. 3



92090622224. 4

Question Number : 56 Question Id : 9209065620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o Y forad Juftdd gidt 82

(1) gk (2)  IgA

(3) 4G (4) 1D
Options :

92090622221. 1
92090622222. 2
92090622223. 3
92090622224. 4

Question Number : 57 Question Id : 9209065621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Hardy — Weinberg equation can be used to test:

(1) Whether evolution is occurring at a population level.

(2) To determine the genotypes of offspring in a genetic cross.

(3) Whether evolution is occurring at an individual level.

(4) To determine the phenotypes of offspring in a crossing experiment
Options :

92090622225. 1
92090622226. 2
92090622227. 3
92090622228. 4

Question Number : 57 Question Id : 9209065621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gIel-arg-e gHiEsIu &1 Iuhn g ¥ 9§ e udiemn & o e s asar &2

1 1 fahr TS W W 8l el ¢
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Options :

92090622225. 1
92090622226. 2
92090622227. 3
92090622228. 4

Question Number : 58 Question Id : 9209065622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In interphase cell, less compacted and highly condensed chromatin are called as :

(1) Heterologous and homologous, respectively.

(2) Heterochromatin and Euchromatin, respectively

(3) Euchromatin and heterochromatin, respectively

(4) Orthologous and baralogous, respectively.
Options :

92090622229. 1
92090622230. 2
92090622231. 3
92090622232. 4

Question Number : 58 Question Id : 9209065622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R i # g gefd au 3= dufa smea s s wed €2

Q)] DHU: favwgerd qy1 waeh

() HUY: faugehafes quT gawd
(3) U Gehafe aqut favgsmiea
(4) AT AHTarT qul IREr

Options :



92090622229. 1
92090622230. 2
92090622231. 3
92090622232. 4

Question Number : 59 Question Id : 9209065623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is not the antimicrobial peptide?

(1) Cathelicidin (2) Defensin
(3) Immunoglobulin (4) Histatin
Options :

92090622233. 1
92090622234. 2
92090622235. 3
92090622236. 4

Question Number : 59 Question Id : 9209065623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3§ 9 & o1 ufdgeasidt doges el &2

(1) Fafafafea @) fEhRm
(3) PIREC RGO 4) fewfeq
Options :

92090622233. 1
92090622234. 2
92090622235. 3
92090622236. 4

Question Number : 60 Question Id : 9209065624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The functions of telomeres is

(1) Protect intact eukaryotic chromosomes from improper fusion or degradation
(2) Attack the intact eukaryotic chromosomes at the centromeric region
(3) Degrade the intact eukaryotic chromosome
(4) Protect the intact chromosomes from histone proteins.
Options :

92090622237. 1
92090622238. 2
92090622239. 3
92090622240. 4

Question Number : 60 Question Id : 9209065624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATHS HTHH ¢ -
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Options :

92090622237. 1
92090622238. 2
92090622239. 3
92090622240. 4

Question Number : 61 Question Id : 9209065625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Karyotype of individual in written as 47, XX, +21 indicating:

(1) Edward Syndrome (2) Down Syndrome
(3} Turner Syndrome (4) Klinefelter Syndrome
Options :

92090622241. 1
92090622242. 2
92090622243. 3



92090622244. 4

Question Number : 61 Question Id : 9209065625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FaDUEY UHN & Aiad B 47, XX, +21 0 § o o a1 g wedr g7

(1) usds figm 2) e figm
(3) o g (4) TAShecd (HSH
Options :

92090622241. 1
92090622242. 2
92090622243. 3
92090622244. 4

Question Number : 62 Question Id : 9209065626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lampbrush chromoromes were first discovered in Salamander oocytes by:

(1) E.G. Balbiani (2) Robert Hook
(3} J. Ruckelt (4) Walther Flemming
Options :

92090622245. 1
92090622246. 2
92090622247. 3
92090622248. 4

Question Number : 62 Question Id : 9209065626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Horey FHugel ¥ gy URE! &1 @il gauyy e 31 iz

(1) <.l difesari 2 e gs
(3) . Bhee (4) TTeeR TfE
Options :

92090622245. 1
92090622246. 2



92090622247. 3
92090622248. 4

Question Number : 63 Question Id : 9209065627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Topoisomerase |l introduces the :

(1) Single stranded supercoils in DNA
(2) Both positive and negative supercoils in DNA
(3) Nagative supercoils in DNA
(4) Positive supercoils in DNA
Options :

92090622249. 1
92090622250. 2
92090622251. 3
92090622252. 4

Question Number : 63 Question Id : 9209065627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS faue®! vafdd &l g7

(1) 31 T7 U A uwdq SuRdrsfeal
) 31 T U H 4TS aul BUTES Gl Jud S -l
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Options :

92090622249. 1
92090622250. 2
92090622251. 3
92090622252. 4

Question Number : 64 Question Id : 9209065628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Sequences essential for centromete function are :

(1) About 200 bl loeng and very rich in G = C pairs.

(2) About 1000 bl long and very rich in A = U pairs.

(3) About 130 bl long and very rich in A = T pairs.

(4) About 20,000 bl and very rich in lysine and arginine.
Options :

92090622253. 1
92090622254. 2
92090622255. 3
92090622256. 4

Question Number : 64 Question Id : 9209065628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

b5 B P & Y TS FAT -

(1) AIMYT 200 bb =1 T G H FX
() TTHAT 1000 bb T aYT giHT H TR
3) YT 130 bb =T dUT gl H U
(4) TRTHAT 20,000 bb THET 4T AU SR ol & weR

Options :

92090622253. 1
92090622254. 2
92090622255. 3
92090622256. 4

Question Number : 65 Question Id : 9209065629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Sea anemones and corals belongs to the phylum :

(1) Platyhelminthes (2) Coelenterata
(3) Porifera (4) Echinodermata
Options :

92090622257. 1
92090622258. 2
92090622259. 3



92090622260. 4

Question Number : 65 Question Id : 9209065629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T A quT vard i ool 9 dafia g2

(1) @iy (2) Wieee
(3) ORI (4) SHRIFASTE

Options :

92090622257. 1
92090622258. 2
92090622259. 3
92090622260. 4

Question Number : 66 Question Id : 9209065630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is |abelled as
Reason (R).

Assertion (A) : Gluconse homeostasis relies predominantly on the antagonistric effects of the
hormaones, insulin and glucagon.

Reasons (R) : When the blood glucose level rises above the normal range, the Secretion of
insulin trigger the uptake of glucose from the blood into body cells, decreasing
the blood glucose concentration. When the blood glucose level drops below
the normal range, the secretion of glucagon promotes the release of glucose
into the blood from energy stores, such as liver glycogen, increasing the blood
glucose concentration.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1 Both (A) and (R) are correct and (R) is the correct explanation of (4)
(2} Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct
(4) (A) is not correct but (R) is correct
Options :
92090622261. 1
92090622262. 2



92090622263. 3
92090622264. 4

Question Number : 66 Question Id : 9209065630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e @ YA AU U § UF HUHU (Assertion A) & w0 H faf€a § O TUU 3TEH RO (Reason R)
& ¥ ﬁ;

FHUT A gﬁqan?ﬁmmwﬁ@@%,%am@ﬁm%uﬁﬁﬁmﬁm
FXA B

FRUIR : 96 SR H DI &1 &R GHR TR § 9@ ol ¢ d1 s9ioF &1 914, 3R § TGP &
Higdl &1 HH Fd gU INR DI T SR T I &1 Ige0 vafdd Hdl g
o TR H T@Iv B WY A € B g1 Wldl g O TRaiiE & 91g, SR o
TS B Tigdl B deld gY, Hoil HeRI H § SR H 4w qaw Sieq Hiag
SYER HXdT § oId ggod] TS BT |

TR DU & Hdld H, -id QU U [dh el § 9 Ga8 Iugdd o S 99+ Bifoig

(1) A 3R R SIFl T8I € AR R, A T Gel A= &

) A 3R R EHT T8 € AfF R, A & TS ren g €
3) AR T, AP R T TR @

4  AGEITEIE, AFTIRES®

Options :

92090622261. 1
92090622262. 2
92090622263. 3
92090622264. 4

Question Number : 67 Question Id : 9209065631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Constitutive hetecochromatin is the region of chromosome, that is always
heterochromatic and pesmanently inactive with regard to transcription.

Reasons (R} : Facultative heterochromatin refers to chromatin that can occasionally
interconvert between heterochromatin and euchromatin.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1 Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct
(4) (A) is not correct but (R) is correct
Options :
92090622265. 1
92090622266. 2

92090622267. 3
92090622268. 4

Question Number : 67 Question Id : 9209065631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-l &1 HuF U U ¢ UF U (Assertion A) B w0 H A& § O 8T 3HS SRUI (Reason R)
& FY ﬁ;

HYFYTA :  TED fauwaf 1 U@ UHT &7 § ol 9oa el a1 § iR e &

oo

HRUIR : fapadt fqumaul, Fmfea &1 dehfa owa § o fawmarl @ g@wmfa ¥ ga1 &
SHEREGIROl FX Ghell g

TR HYA & P ¥, A< [GT 70 fdhet] & § 9989 Jugat Il 61 99 SHifew

(1) A 3R R Gl 95l € AR R, A T gl AT ©

) A 3R R ST el € Af R, A T 6! saRen el ©
(3) A g1 €, AT R TEl Tel §

@  ATETSIE AfFTRUE

Options :

92090622265. 1
92090622266. 2
92090622267. 3



92090622268. 4

Question Number : 68 Question Id : 9209065632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Staphylococcus auleus is gram negative bacteria.

Reasons (R) : Saccharomyces cerevisiae and Neurospora crassa are the examples of class
Ascomycetes in fungi.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Options :

92090622269. 1
92090622270. 2
92090622271. 3
92090622272. 4

Question Number : 68 Question Id : 9209065632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gaaaa%mmnq% U HYHYA (Assertion A) & ¥4 T ff@d g o1 g8 I¥S SR (Reason R)
vy N

HYBUAA : EHEADIDY HRTT TP UM BHES @] ¢
DRUIR : TBHEIGH Gefagiadl JRIGRT #9T Had U ail T & 38 gl
IRl DY & el F, A U 7 fahedl & € 9a8 Suged I &1 °9u Sy

(1) A 3R R M TE € 3R R, A DI TG AR &

v A 3R R ST Tgl €, AfH R, A T Tol RSN el §
3) AT E AfrT RO T &

4  AGEITEE AfFTR U B

Options :

92090622269. 1
92090622270. 2
92090622271. 3
92090622272. 4

Question Number : 69 Question Id : 9209065633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : In tertiary structure of protein hydrophbic side chains are held interior while the
hydrophilc groups are on the surface of the protein molecule.

Reasons (R) : Other than hydrogen bonds disulifide bonds ( S = 5 ), ionic interaction
(Electrostatic), hydrophobic interaction and Vander Waals forces also contribute
to the tertiary structure of protein.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (4)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Options :
92090622273. 1
92090622274. 2



92090622275. 3
92090622276. 4

Question Number : 69 Question Id : 9209065633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qﬂ@l?mm% U HHHY (Assertion A) & &0 H [f@d g o TH IHP SR (Reason R)
=g M

AUFYT A :  UIEHE Teiia 31 goae deaned J§ ugs g Wiaw gkt € vaie slerei 9ug
T 3] 1 ¥dg Wald gl

FRUIR: gRaoH, §4 & offdiad, SZHerEs 94 , FAE siafhan (RRdegq), i
it a1 arevate aal &1 W T 3 gdtas e § e g |

I HUH & HTelD H, Ad QU 7Y [dhedi & § Had Iugad I &1 99 Biforg

(1) A 3R R EFI Uel & 3R R, A 3 el e &

(2) A 3R R S T8 8, A R, A D1 U] AR el &
3) A g1 €, Wi R HE T8I §

(4  AGSITEIE AfFTRUET

Options :

92090622273. 1
92090622274. 2
92090622275. 3
92090622276. 4

Question Number : 70 Question Id : 9209065634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : PCR is a technique to ampify large quantities of a specific DNA.
Reasons (R) : PCR technique involves the following steps; renaturation, denaturation and
synthesis.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Options :

92090622277. 1
92090622278. 2
92090622279. 3
92090622280. 4

Question Number : 70 Question Id : 9209065634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iﬂ@l?ﬁuw% UF HUBY (Assertion A) F &0 H faf@d § o g8U 39® BRI (Reason R)
w0 H

AfirpyT A - el falw & v v S aEnell &1 vafifa £ & o W R ue die g
SRR : Ut G R ad-ie 5 5 9o Wil g1d € - T iad, fagfamon qurn ey
IWRIS YT & ATdlid 4, Aid 73U U fadedl § 9 99 Iugdd Ia< &1 99+ Hifeg

(1) A 3R R Gl 6l § AR R, A T Gel ArEAT &

2) A 3R R g1 TSl €, Afb R, A D1 Tl SRS el &
(3) A g1 €, @i R et 781 @

@4  AGEIFE g, AfFT RIS E

Options :

92090622277. 1
92090622278. 2
92090622279. 3
92090622280. 4



Question Number : 71 Question Id : 9209065635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Restriction enzymes recognizes its particular recognition sequence and cut the
ss DNA / ds DNA to produce cohesive and blunt fragments.

Reasons (R) : Restriction enzyme with A — base recognition will cut, on average, every
256 base pairs if all four nucleotides are present in equal proportions.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1 Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Options :

92090622281. 1
92090622282. 2
92090622283. 3
92090622284. 4

Question Number : 71 Question Id : 9209065635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- &1 HuA U U 6 UF U@ (Assertion A) & ¥ H A& & O 8T 39D SR (Reason R)
& FY ﬁ;

HHFYT A :  UidEeH T9RH 297 A9y Ug9H %9 & UgdFd ¢ aYl J8% d $§ 9sl &1 ddR
B & o7 ss DNA / ds DNA &1 &led g

HRUIR : 9 IR YFadiess 99 o & [&emE 81 § df - 39 Ugdr ard fddeH ARy sieA
256 59 g & wled ¢

TR HYA & HdlP ¥, i< 3T 7 fahei § § 999 Iuga Il 61 99 Hifew

(1) A 3R R Gl 951 € AR R, A T O8I AT ©

2) A 3R R EHT 981 € Afh R, A & T8 e dl §
3) AR & Al R Tl e 2

@  ATRITRIE, AFTRIE R

Options :

92090622281. 1
92090622282. 2
92090622283. 3
92090622284. 4

Question Number : 72 Question Id : 9209065636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is |labelled as
Reason (R).

Assertion (A) : In pteridophytes, genera like Selaginella and Salvinia produces heterospores.

Reasons (R) : Hetrospory in pteridophytes is a precursor to the seed habit, which is an
important step in evolution

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Options :
92090622285. 1
92090622286. 2



92090622287. 3
92090622288. 4

Question Number : 72 Question Id : 9209065636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qﬂﬂﬁ;ﬂﬁqw% U YT (Assertion A) & &9 T ff@d g o1 g8 IU& SR (Reason R)
o

AFHYTA :  RESTBIRE # T AR Jeal7gord a9 fquneien] 3ad & ¢
HRUIR : ¢RSTBRe § fawaaieE e sred & g gamd g, o faem & g ue meagel @

HHET W 8
TR HY & ATedlD 1, Aid [Gu MU [ddhei § 9 98 Iugdad I &1 99 ity

(1) A 3IR R Sl U6l & R R, A 3! Tl AR &

2) A 3R R g Ul &, Afch R, A D1 TSI ARG el &
3) A TR E, AfbT R T TE @

(4 ARG, AfbTREE B

Options :

92090622285. 1
92090622286. 2
92090622287. 3
92090622288. 4

Question Number : 73 Question Id : 9209065637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Write the correct sequence for compounds in citric acid cycle :

A Malate

B. Fumarate

. Succinyl Co-A
D. Oxaloacetate
E. Succinate

Choose the correct answer from the options given below :

(1 C-E-B-A-D
(2) A-B-C-D-E
(3) E-D-C-B-A
(4) C-E-A-B-D
Options :

92090622289. 1
92090622290. 2
92090622291. 3
92090622292. 4

Question Number : 73 Question Id : 9209065637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fifee o 90l I diffias] & Hel %H  forg |
A. Tieie

B. T

C. HFMA - Coa

D. SfeiaiRee

E. Hiee

4t fau e fasedi # 9§ el I &1 79U Hifoil -

(1) C-E-B-A-D

(2) A-B-C-D-E
(3) E-D-C-B-A
(4) C-E-A-B-D

Options :



92090622289. 1
92090622290. 2
92090622291. 3
92090622292. 4

Question Number : 74 Question Id : 9209065638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sequence of events taking place during Calvin cycle are:

A The first product of the fixation of carbon dioxide is glycerate 3 - phosphate

B. Glycerate 3 - phosphate is immediately reduced to 3 carbon sugar phosphate, triose
phosphate.

C, Conversion of glycerate — 3 phosphate to triose phosphate consumes NADPH+H" and
ATP

D. Triose phosphate is further metabolized to produce sugars

Some of the triose phosphate is metabolized to produce ribulose bisphosphate.

Choase the correct answer from the options given below :

(1) E-D-C-B-A
(2) A-
(3) A -
(4) A~

M @ @

-D-E-
D e o
S i

m m M

Options :

92090622293. 1
92090622294. 2
92090622295. 3
92090622296. 4

Question Number : 74 Question Id : 9209065638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



bicd IhUT & TR 61 gl T R 3-hiehe gl

A. FEATSZHGEFS & RRIHI 1 Ugel JdIg Teie 3-Hiehe g

B. feree - 3 WIEhe Q= g 3 BIa- UDhY Blehe, TN hidpe § FHufigd g1 I g |
C. fier¥e - 3 Bithe &1 ¢ Biahe § UfaaH, NADPH+H* TY4T ATP @1 SUHIT H¥dl o
D. 2T BIEhe o1 Wbl J0F HeA & forg IR Jurafed gidn gl

E. FS TN Biehe B U9 IGas dI5hihe Jda H- & g gidl g

=i fau U fah el § 9 gel IO &1 99 Hifeg
(1) B 5 =

(2) R=BeD=Esl

(3) KBy

(4) A-CoB-D-E
Options :

92090622293. 1
92090622294. 2
92090622295. 3
92090622296. 4

Question Number : 75 Question Id : 9209065639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Write the different steps for water purification process of untreated water to drinking water for
human use in sequence

A Color and precipitate removal

B. Softening process (Ca, Mg removal)
0% Taste and odour removal

D. Disinfection

E. Turbidity removal

Choose the correct answer from the options given below :

(1) A-C-D-E-B
(2)
(3)
(4)

I'I'.'P
u;ru:rr‘\

-E-B
-E-C-
-C-D

I
m O O

Options :
92090622297. 1



92090622298. 2
92090622299. 3
92090622300. 4

Question Number : 75 Question Id : 9209065639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AU SIdl 1 A JUT H Ui T §9H & {o10 Set Yhgrvl uishdl & fafia 9ol &l ugar
A T YT SHGEdl BT g
B. Tga Uiehdl (Ca, Mg &1 geTI)

i W1E aul 1Y &l gl

D. fagdsma

E. 1faerdl ®1 gl

i feu U fas el 1 O Ug! IO &l 98- DIfg :
(1) A-C-D-E-B

(2) A-C-E-B-D

(3) A-B-E-C-D

(4) s B B

Options :

92090622297. 1
92090622298. 2
92090622299. 3
92090622300. 4

Question Number : 76 Question Id : 9209065640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the appropriate sequence for the production of dendritic cells from hematopoietic
stem cells in bone marrow.

(A) Common myeloid progenitor

(B) Monoblast

(Q) Hematopoietic stem cells in bone marrow
(D) Monocytes

(E) Dendritic cells

Choose the correct answer from the options given below :

(1) C-B-D-A-E

(2) C-A-B-D-E

(3) A-B -C-D-E

(4) C-B-A-E-D
Options :

92090622301. 1
92090622302. 2
92090622303. 3
92090622304. 4

Question Number : 76 Question Id : 9209065640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y AT H IFIduGd Jo HIRSGT F giHeT SIffH1sl & Iaed & o 3Ra o0 &l
ugdH

A. A AlSHals WeHiel

B. UHADNS

C 31y Festl H IedIaTe s 1ol ST
D. AHEEe

E. FEEakaIEEaLY

i feu 0 fawedl # 9 Hel 3 &1 994 Hifell
(N C-BoD-A-E

) C-A-B-D-E

(3) B DLE

(4) CxBoA=E=D

Options :

92090622301. 1
92090622302. 2
92090622303. 3
92090622304. 4

Question Number : 77 Question Id : 9209065641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the different levels of packing from DNA to chromosome in a sequential manner

(A) Radial loops attached with protein scaffold
(B) Mucleosome

(C) Double helix DNA

(D) Metaphase chromosome

(E) 30 hm fiber

Choose the correct answer from the options given below :
(1) CoB_E=A=D

(2)
(3)
(4)

m = m

LB-C—B-
et
-B-C-D-

* m

Options :

92090622305. 1
92090622306. 2
92090622307. 3
92090622308. 4

Question Number : 77 Question Id : 9209065641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SITAU ¥ YRG! dh Y & 9 T o1 FHTIR g

A. Ui Hoe & 91y do Beg um
B. Higpry

& fegpsfer Siuu

D AT U

E. 30 mm dg

= feu e fawedl § 9 98l I &1 994 Sifel
(1) C-B-E-A-D

(2) E<DC-B A
(3) B
(4) 0 (8 o S

Options :



92090622305. 1
92090622306. 2
92090622307. 3
92090622308. 4

Question Number : 78 Question Id : 9209065642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The body cavity, which is lined by mesoderm is called Coelom. Which of the following
is/are NOT coelomates.

(A) Hemichordates

(B) Chordates

(O Platyhelminthes

(D) Annelids

(B) Arthropods

Choose the correct answer from the options given below :

4} Aand B only
(2) C and D only

(3) E only
(4) C only
Options :

92090622309. 1
92090622310. 2
92090622311. 3
92090622312. 4

Question Number : 78 Question Id : 9209065642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



?%g%w,@qmwm&raﬁaﬁfﬁasﬁ%ﬁﬁmm% | P & & B wel el
?

A)  eHiBise
(B) Flac
(C) LR B e
(D) IS (@gdadd)
(E) 31YTs
= 13U 7T fasedl # 8 9el IR &1 999 DI :
(1) Rk asiRs
(2) fih c 3R D
(3) ke
(4) ik ¢
Options :

92090622309. 1
92090622310. 2
92090622311. 3
92090622312. 4

Question Number : 79 Question Id : 9209065643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



|dentify the correct sequence of steps involved in detection of specific DNA fragments
from a mixture of DNA :

(A) DNA is separated by electrophoresis and visualized by staining
(B) Filter is placed in sealed bag with solution containing radioactive probe
(C) DNA samples are cut by Restriction Endonucleases and loaded onto gel

(D)  Filter is washed to remove excess probe and placed on X-ray film to prodce images
of DNA bands

(E) DNA binding filter papertowels and weights are placed on gel. Due to capillary
action DNA fragments binds to the membrane

Choose the correct answer from the options given below :

(1) C-A-E-B-D

(2) A-B-C-D-E
(3) E-D-C-B-A
(4) A-B-D-C-E
Options :

92090622313. 1
92090622314. 2
92090622315. 3
92090622316. 4

Question Number : 79 Question Id : 9209065643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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13 f3u U faw el 7 9 WEl IR &1 999 SIS ;
(1) C-A-E-B-D
(2) A-B-C-D-E
(3) E-D-C-B-A
(4) A-B-D-C-E
Options :

92090622313. 1
92090622314. 2
92090622315. 3
92090622316. 4

Question Number : 80 Question Id : 9209065644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . Farmation of additional coils due to twisting forces in referred to as
DNA supercoiling.

Statement |l : The enzyme DMNA gyrase, also known as topoisomerase Il relax
positive supercoiled DNA, using energy from ATP.

In the light of the above statements, choose the correct answer from the options given
below :

(M Both Statement | and Statement |l are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement |l is correct

Options :

92090622317. 1
92090622318. 2
92090622319. 3
92090622320. 4

Question Number : 80 Question Id : 9209065644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

By AU MU B
DY ;A gdl b HRUI Afdlad peferal & Ffta i Sieu sifddsad Fea @ |

DY LA, el BT IR HId §U, SITAT TS AHS Tollsd fordl Saismgamd i
ft B8 8, YIS ifddsfad Stau & Ra s g |

IWiad HYA & aid | At f2u v Al § 4 9el 39 994 Sifelg

(1) Y| SR 1| A T 8
(2) P | 3R 1| T T &
(3) DY | I g, Alch- dU 11 3R §
(4) PYF | A &, Alp HYF | T &
Options :
92090622317. 1

92090622318. 2
92090622319. 3



92090622320. 4

Question Number : 81 Question Id : 9209065645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :  The Pineal gland in located on the dorsal side of forebrain. It secretes
a hormone called melatonin.

Statement |l :  Melatonin helps in maintaining the normal rhythms of sleep—wake
cuycle, body temperature also influences metabolism, pigmentation,
menstrual cycle and defense capability.

In the light of the above statements, choose the correct answer from the options given
below :

(M Both Statement | and Statement |l are correct
(2) Both Statement | and Statement |l are incorrect
(3) Statement | is but correct Statement |l is incorrect

(4) Statement | is false but Statement Il is correct

Options :

92090622321. 1
92090622322. 2
92090622323. 3
92090622324. 4

Question Number : 81 Question Id : 9209065645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) YT AR T T B

(2) HUF | 3R || ST 3T §

(3) DY | A g, AfH- HYF 11 I B
(4) YT | I g, AP HYT I T ¢

Options :

92090622321. 1
92090622322. 2
92090622323. 3
92090622324. 4

Question Number : 82 Question Id : 9209065646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | . Phytohormone ethylene promotes senescence and abscission of plant
organs.
Statement Il :  The most widely used compound as source of ethylene is Ethephon.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement |l is incorrect

(4) Statement | is incorrect but Statement |l is correct

Options :
92090622325. 1
92090622326. 2



92090622327. 3
92090622328. 4

Question Number : 82 Question Id : 9209065646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR HYARU U E:
FYFT | :  UIGUgRAEMA Uil urey Tl & Siivfar aul faa= &1 SR dl g

FYA | ; qﬂg@a%mﬁw@%mmmmﬁwaﬁwm
U |

IR HYA & 3Tl H, A [Su 70 fawmedl § 8 Tgl It 994 Sifoll

(1) Y| SR 1S T B

) FYA | 3R 11 ST 39T &

3) HY | I g, Alh HYF || SRII §
(4) FYT | T ¢, AP HYF 1 T &

Options :

92090622325. 1
92090622326. 2
92090622327. 3
92090622328. 4

Question Number : 83 Question Id : 9209065647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . Gene therapy is a therapeutic technique that aims to transfer normal
genes into a patient’s cells

Statement |l . Gene therapy has successfully restored the cases severe combined
immunodeficiency (SCID).

In the light of the above statements, choose the correct answer from the options given
below :

(nH Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement |l is incorrect

(4) Statement | is incorrect but Statement Il is correct

Options :

92090622329. 1
92090622330. 2
92090622331. 3
92090622332. 4

Question Number : 83 Question Id : 9209065647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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W HYA & el H, A1 [SU 70 faeedl § 8 Ugl It 994 Sifolt:

1 FYT I AR NSAT AT

) FYF | 3R 11 SHT ET §

3) FUYT | T ¢, AfPT PYT 1| 3T §

(4) FUT | A, AP B N T &
Options :

92090622329. 1
92090622330. 2



92090622331. 3
92090622332. 4

Question Number : 84 Question Id : 9209065648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | . An icosahedron is a regular polyhedron with 60 equilateral triangular
faces and 20 vertices.

Statement Il :  The simplest virion consists of a nucleocapsid, which is composed of
nucleic acid, either DNA or RNA, and a protein coat called a capsid

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement |l are incorrect
(3) Statement | is correct but Statement |l is incorrect

(4) Statement | is incorrect but Statement Il is correct

Options :

92090622333. 1
92090622334. 2
92090622335. 3
92090622336. 4

Question Number : 84 Question Id : 9209065648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090622333. 1
92090622334. 2
92090622335. 3
92090622336. 4

Question Number : 85 Question Id : 9209065649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;

Statement | . Electron transport via the respiratory chain creates a proton gradient
which drives the synthesis of ATP.

Statement |l :  Peter Mitchell, postulates that two process are coupled by a proton
gradient across the inner mitochondrial membrane so that the proton
motive force caused by the electrochemical potential difference drive
the production of ATP.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

Options :



92090622337. 1
92090622338. 2
92090622339. 3
92090622340. 4

Question Number : 85 Question Id : 9209065649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FAadI sy UM E:
HYF| ;a9 SGal & W 9 dfgd g didl Udde A Wi UdUidl &1 HoiF Sedl § ofl
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IR HYA & Ml H, F19 [Su 70 el § 8 98l I 994 Sifo:

(1) HYF | AR NI EAI T &

) HYF | SR 11 2FI 3T &

(3) HY | 9d ©, A HY 1l 3
(4) HYF | A ¢, AP FYF 11 I &

Options :

92090622337. 1
92090622338. 2
92090622339. 3
92090622340. 4

Question Number : 86 Question Id : 9209065650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | :  The Northern abd Western blotting techniques are used to size and
quantify RNA and proteins molecules, respectively

Statement |l : In blotting technique, molecules are transfered from gel to the
membrane by capillary action.

In the light of the above statements, choose the correct answer from the options given
below :

(1 Both Statement | and Statement Il are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

Options :

92090622341. 1
92090622342. 2
92090622343. 3
92090622344. 4

Question Number : 86 Question Id : 9209065650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090622341. 1



92090622342. 2
92090622343. 3
92090622344. 4

Question Number : 87 Question Id : 9209065651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In diploved eukaryotie species, homologous chromosome can exchange Piece with each
other a phenomenm called

Which of the following statement are TRUE?

(A) The crossing over event occurs during prophase of meiosis

(B) Crossing over can change the comination of alleles along a chromosome and
produce recombinant offsprings

(Q) T.H. Morgan proposed that nonpartental offersprings are producded by crossing
over

(D) Crossing over does not produce recombinant offspring

(E) The crossing over event occurs during meiosis |l

Choose the correct answer from the options given below :

(1 C, D, Eonly
(2) A, B, C only
(3) A, B, D only
(4) D, E only

Options :

92090622345. 1
92090622346. 2
92090622347. 3
92090622348. 4

Question Number : 87 Question Id : 9209065651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

C.DE
A B C
A B D
D E

92090622345. 1
92090622346. 2
92090622347. 3
92090622348. 4

Question Number : 88 Question Id : 9209065652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Key effects of Genetic Drift are

(A) Significant in small populations

(B) Cause allele frequencies to charge at random

(0 Lead to a loss of genetic variation within populations
(D) Cause harmful alleles to become fixed

(E) Significant in extremely large population size

Choose the correct answer from the options given below :

(1 E only

(2) A, E only

(3) A, B, C, Donly
(4) C, D, Eonly

Options :

92090622349. 1
92090622350. 2
92090622351. 3
92090622352 4

Question Number : 88 Question Id : 9209065652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it faae & wgE yHE §

(A)  HHETEEN e §

(B) fa@ed! smgfudl & grewse ™ uRadd Hdl g

(© Tl oen B Sdfe aRady & gR1 oSSl SRR $dl &
(D) BIFoR® Ao o RR A8

(E) 3 ggd SHen # afe g g

19 fau U faeed] § 9 Hgl I &1 994 Difelt:

(1) HadE

(2) HAdA, E

(3) $dd A, B, C, D

(4) $ddC, D, E
Options :

92090622349. 1



92090622350. 2
92090622351. 3
92090622352. 4

Question Number : 89 Question Id : 9209065653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the exampling of cytokines?

(A) Titin

(B) Interferons

() Colony stimulating factors (CSFs)
(D) Interleukins

(E) Ferritin

Choose the correct answer from the options given below :

(1) E, C, D only
(2) B, C, D only
(3) A, E, D only
(4) D, A, B only

Options :

92090622353. 1
92090622354. 2
92090622355. 3
92090622356. 4

Question Number : 89 Question Id : 9209065653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090622353. 1
92090622354. 2
92090622355. 3
92090622356. 4

Question Number : 90 Question Id : 9209065654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following is correct about biogeochemical cycling?

(A) The cycling between inorganic (COz) and organic carbon occurs aerobically and
anaerobically by the microbes.

(B) Biogeochemical cycle in not energised by solar energy

() Phosphorus is cycled in its oxidized state, phosphate and there is no gaseous
form

(D) Methane is a green house gase of increaseing concern due to its low global

warming potential

(E) Nitrogen, phosphorus and sulfur cycle have gaseous component only

Choose the correct answer from the options given below :

(1) A, B, C only
(2) A, B, D only
(3) A, C, E only
(4) A & Conly

Options :

92090622357. 1
92090622358. 2
92090622359. 3
92090622360. 4

Question Number : 90 Question Id : 9209065654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090622357. 1
92090622358. 2
92090622359. 3
92090622360. 4

Question Number : 91 Question Id : 9209065655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Food-borne bacteria that cause acute bacterial vomitting and diarrhea

(A) Shigella sp.
(B) Salmonella sp

(C) Pseudomonas aerugiora
(D) Clostridiumn tetani
(E) Yersinia entecolitica

Choose the correct answer from the options given below :

(1) A, B, D only
(2) A, B, Conly
(3) C, D, E only
(4) E, A, B only
Options :
92090622361. 1
92090622362. 2

92090622363. 3
92090622364. 4

Question Number : 91 Question Id : 9209065655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(2) Fad A, B, C
(3) $ddC D, E
(4) FAAE, A, B

Options :



92090622361. 1
92090622362. 2
92090622363. 3
92090622364. 4

Question Number : 92 Question Id : 9209065656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Polymerase chain reaction is a laboratory technique for generating large quantities of a
specified DNA. The essential requirement for PCR are;

(A) A target DNA

(B) Polymerases and ligase enzymes

(C) Two primers and a DNA polymerase
(D) Four deoxyribonucleotides

(B) Nitrocellulose memberance

Choose the correct answer from the options given below :

(1 A, C, Donly
(2) A, B, Conly
(3) A, B, E only
(4) A, C Eonly

Options :

92090622365. 1
92090622366. 2
92090622367. 3
92090622368. 4

Question Number : 92 Question Id : 9209065656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090622365. 1
92090622366. 2
92090622367 3
92090622368. 4

Question Number : 93 Question Id : 9209065657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is linked with p—oxidation of fatty acids?

(A) Activation of fatty acids

(B) Break down of fatty acids in cytoplasm
(@) Transport of fatty acids into mitochondria
(D) [ - oxidation in kreb cycle

(E) [ — oxidation in mitochondrial matrix

Choose the correct answer from the options given below :
(M A, B, C only
(2) A, D, E only
(3) A, C, E only
(4) A, C, D only

Options :



92090622369. 1
92090622370. 2
92090622371. 3
92090622372. 4

Question Number : 93 Question Id : 9209065657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090622369. 1
92090622370. 2
92090622371. 3
92090622372. 4

Question Number : 94 Question Id : 9209065658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct answer from the Match List | with List Il ;

List | List Il
(AY  Withania (1) Marphine
(B) Papaver (I Quinine
(C) Rauwolfia ()  Aswagandha
(DY Cinchona (V) Reserpine

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(1), (C)-( ), (D)-( V)
(2) (A)-(1V), (B)-(1), (©)-(1), (D)-(1)
(3) (A)-(1), B)-(IN), (C)-(IV), (D)-(1N1)
(4) (A)-C 1), (B)-( 1), (©)-(IV), (D)-(11)

Options :

92090622373. 1
92090622374. 2
92090622375. 3
92090622376. 4

Question Number : 94 Question Id : 9209065658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl | & |1y gl 1| 61 e Sifog

i1 BEIR

(A)  faaar () WA

(B8) TR ay @& @)

(C)  Idiicirar (1) 3feien

(D) faEr (av) fafda
g fou U faswedt & @ 981 IR &1 994 Difaie:
(1) (A)-C 1), (B)=( 1), (C)-( 1), (D)-( IV)
(2) (A-C IV ), (BY-( 1N ), (C)-( 1), (D)-(1)
(3) (A)-C 1), (B)-( 1), (C)-( V), (D)-( 1)
(4) (A)-C L), (B)=( 1), (C)-( IV ), (D)-( )

Options :

92090622373. 1



92090622374. 2
92090622375. 3
92090622376. 4

Question Number : 95 Question Id : 9209065659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct answer from the Match List | with List Il ;

List | List Il
(A) DNA asel (1) Degrades single stranded DNA
(B) RMAaseH (I  Add nucleotides to the 3' end of DNA
(C) 5y nuclease () It produces singls stranded niculls in
DMA/nicks
(D) Terminal transferase (IV) Degrades the RNA portion of a DNA - RNA
hybrid

Choase the correct answer from the options given below :

(1) (A)-(1), (B)-( IV ), (C)-( 1), (D)-(IN)

(2) (A)-( ), (B)-(1V ), (Q)-(1), (D)-(11)
(3) (A)-( V), (B)-(I ), (©)-(1), (D)-(1)
(4) (A)-( IV ), (B)-(1), (C)-(11), (D)-( 1)

Options :

92090622377. 1
92090622378. 2
92090622379. 3
92090622380. 4

Question Number : 95 Question Id : 9209065659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gl | & |y gl || 61 sifore

gl It -l
(A) ST ase | (1) UH Gl S e S e
(B) 3NUAY ase |l () :;nau%yﬁﬁ‘rmq@atnamm
(@ RSE: e () Tl ST H UF G Iad Il §
(D) 3 A (IV) DNA - RNA H&HT & RNA YT &1 (Adiga
el

g fu e fawedi H O T8l 39 &1 994 DI

(1)
(2)
(3)
(4)

(A)-( 1), (B)-( V), (Q)-( 1), (D)-(1)
(A1), (B)-CIV), (C)-( 1), (D)-( 1)
(A)-( V), (B)-CHE), (©)-( 1), (D)-( 1)
(A)-( IV ), (B)-(1) (Q)-( 1), (D)-( 1)
Options :

92090622377. 1

92090622378. 2

92090622379. 3

92090622380. 4

Question Number : 96 Question Id : 9209065660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct answer from the Match List | with List Il ;

List | List Il
(A) Hexokinase () 2 - phosphoglycerate to phosphoenol phyruvate
(PEP)
(B) Pyruvate kinase () Frutose 1 - 6 bisphosphate to Glyceraldehyde
3 - phosphate and DHAP
(C) Aldolase () Glucose to glucose — 6 - phosphate
(D) Enolase (IV) Phosphoenol pyruvate (PEP) to pyruvate

Choose the correct answer from the options given below :

(1) (A)-(IV ), (B)-(1N), (C)-(I), (D)-(1)
(2) (A)-(1), (B)-(IV), (C)-(I1), (D)-(I)
(3) (A)-(1), (B)-(11), (C)-(1n), (D)-(IV)

(4) (A)-(IV), (B)-(lIn), (C)-(I), (D)-( 1)

Options :

92090622381. 1
92090622382. 2
92090622383. 3
92090622384. 4

Question Number : 96 Question Id : 9209065660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gl | & 91y TGt || &1 e $ifag

gl gl I
(A) eoEEA ()  2-IEhITAHIE Bl BRI USde (PEP)
(B) URI®dC (1) PEE 1-6 SFdcbe @ R UeEgEs-
3-TIEhe a4l (DHAP) H
(C) SHeaiddl ()  TeIDIA DI TbI-6- BIEhe
(D) 3 (V) IEpITHI Uvde & UHsde §
+d fou 71U fadedi § € T8l IR &1 994 ST

(1) (A)-(IV ), (B)-(1), (C)-(), (D)-(1)
(2) (A)-(1), (B)-(IV), (C)-(In), (D)-(1)
(3) (A)-(1), (B)-(11), (C)-(1), (D)-(IV)

(4) (A)-(IV), (B)-(llN), (C)-(I), (D)-( 1)

Options :



92090622381. 1
92090622382. 2
92090622383. 3
92090622384. 4

Question Number : 97 Question Id : 9209065661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct answer from the Match List | with List Il :

List | List Il
(A) Florescence microscopy (1 Light is the source for illumination
(B) Darkfield microscopy ()  Streams of electrons are deflected by an

electromagnetic filed
(C)  Electron microscopy () Light is scattered at boundaries between
regions having different refractive indices

(D) Light microscopy (IV) Tissue sections are examined under UV light,
near the visible spectrum and component are
recognizable by the fluorescence they emit in
the visible spectrum.

Choose the correct answer from the options given below :

(1) (A)-(1), B)-(1), (©)-(1), (D)-(IV

)
V'), (B)-(11), (©)-( 1), (D)-
\

)= )
(2) (A)-( (1)
(3) (A)-(IV ), (B)-( 1), (C)-( 1), (D)-(1)
(4) (A)-(1), B)-(11), (Q)-(1 ), (D)-(IV)

Options :

92090622385. 1
92090622386. 2
92090622387. 3
92090622388. 4

Question Number : 97 Question Id : 9209065661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gl | & |1y gl || 61 e Sifeg

goil-| gt -

) e gereRist () VR YEie B Ed §

(8) it & geaiiwt () oGl B YR 90 gEPE & B ERI
faaifa gt §

(C) Sude geaaie! ay  Tira-fir argadAiet ard &= &t dmanal 7 e
FiEma g g

(D) WP GEag Rt (Iv) TRIGT UE H SHddi gR1 9d &1 ool
IO WaeH & U {301 9N § a1 981 9
BRI IIed Widaiied § e &l Ugarl ordl &

< faU 7 faedi O 9 9l IR &1 994 Sifeu:
(1) A-(1), @)-(), ©-(I), (O)-(IV)

(2) (A)-(IV ), (B)-( 1), (O)-C), (D)-( 1)

(3) (A)-( IV ), (B)-( 1), (C)-( 1), (D)-( 1)

(4) (A)-( 1), (B)-C11), (©)-Cl), (D)-(IV)
Options :

92090622385. 1
92090622386. 2
92090622387. 3
92090622388. 4

Question Number : 98 Question Id : 9209065662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct answer from the Match List | with List Il ;

List | List Il
(A)  Vancomycin (1 Bacillus subtilis
(B) Bacitracin ()  Streptomyces nodosus
(C) Streptomycin ()  Streptomyces griseus
(D)  Amphotericin (IV) Streptomyces orientalis

Choaose the correct answer from the options given below :

(1) (A)-( V), (B)-( 1), (C)-(1), (D)-(1)
(2) (A)-(1), B)-(1), (C)-(IV), (D)-( N1}
(3) (A)-(IV), (B)-(1), (C)-(1), (D)-(N)
(4) (A)-(1), (B)-(1), (©)-(1i), (D)-(IV)



Options :

92090622389. 1
92090622390. 2
92090622391. 3
92090622392. 4

Question Number : 98 Question Id : 9209065662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gl | & 91y Gl 1| 1 firdH i

gHi-| gt -1l
A) demEfE ) oy gariy
(B) () EUHERY Ay
€ wWPmEfE Wy ErmEERy e
(D) TURBINEA (V) BOHERY ARTShg

g feu ¢ fasedl § 9 Tl I &1 98- SIIT;

(1) (A)-(IV), (B)-( 1), (©)-( 1), (D)-(1)
(2) (A)-(1), (B)-(11), (O)-(IV ), (D)-(1N)
(3) (A)-(1V ), (B)-(1), (©)-(1N), (D)-(11)
(4) (A)-(1), (B)-(11), (C)-( 1), (D)-(IV)

Options :

92090622389. 1
92090622390. 2
92090622391. 3
92090622392. 4

Question Number : 99 Question Id : 9209065663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct answer from the Match List | with List Il :

List | List Il
DNA Replication Protein Function
(A) DNA Polymerase Il in Binds to ter sequences and prevents the
advancement of the replications work
(B) DNA Polymerase | ()  Synthesizes DNA in the leading and lagging
strands
(C) DNA ligase () Removes RNA Primers, fills in gaps with
DMNA.
(0y  Tus (IV) Covalently attaches adjacent Okazaki
fragments.

Choose the correct answer from the options given below :

(1) (A)-( 1), (B)-( IV ), (C)-( 1), (D)-( 1IM)
(2) (A)-( 1), (B)-( IV ), (C)-( 1), (D)-( 1)
(3) (A)-( 1), (B)-( ), (C)-( V), (D)-( 1)
(4) (A)-( IV ), (B)-( 1), (C)-( 1), (D)-( 1)

Options :

92090622393. 1

92090622394. 2

92090622395. 3

92090622396. 4

Question Number : 99 Question Id : 9209065663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gl | & 91y it 11 1 e Sifeg

Tl i -1l

(A) ST U Ui () T PI Siea g aun Uipia Wia & gard
EARIC T

(8) SITA T Ui | () am%qﬁiwamwﬁﬂf@ﬂg&ﬁﬁmﬁa
Il

€ SITAudT () SR UA U YRG! Sl geldi e, ST AU S
RIEl B W8

D) <9H (Iv) TEHO® ¥4 4 Fdeadt Wal &1 gaife
FATE

i f4u 0 fdwmedt © O Ol IR &1 994 S

(1) (A)-(11), (B)-(IV), (©)-(1), (D)-( 11N)

)-(i
(2) (A)-(I1), (B)-(IV), (C)-( 1N}, (D)-(1)
(3) (A)-(I1), (B)-(IN), (C)-(IV), (D)-(1)
(4) (A)-( IV ), (B)-( 1), (C)-( 1), (D)-( 1)
Options :

92090622393. 1
92090622394. 2
92090622395. 3
92090622396. 4

Question Number : 100 Question Id : 9209065664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choaose the correct answer from the Match List | with List Il :

(A)
(B)
(©)
(D)

List |

Phylum
Porifera
Ctenophora
Platyhelminthes

Annelida

(
(
(
(

)

)

1)

List Il
Salient features.

Body Segmentation like Rings

Body with pores and canals in Walls
Comb plates for locomotion

Flat body, suckers.

Choaose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A)-(1IV), (B)-( 1), (C)-( ), (D)-(1)
(A)-(1), (B)-(11), (©)-(1I1), (D)-(IV)
(A)-(11), (B)-( ), (C)-( IV ), (D)-(1)
(A)-(1), (B)-( 1), (©)-(1). (D)-(IV)

Options :

92090622397. 1
92090622398. 2
92090622399. 3
92090622400. 4

Question Number : 100 Question Id : 9209065664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Tt | 3 | gt 1 31 e Sy

i gt -

(A) ORIt () IO Bl g & PlidS WS
B) THIBRI (1) SRR A Ty Ty o | e
€ weledia 1y A F o dedt wie (@)
(D) EHiTerST (Iv) TUSTIRR, gNH

i feu T fahedi § 4 TEl SR &1 98 DI

(1) (A)-( IV ), (B)-( 1), (C)-( 1), (D)-(1)

(2) (A)-( 1), (B)-C11), (C)-( L), (D)-( IV)

(3) (A)=( 1), (B)-( 1), (C)-( IV ), (D)=(1)

(4) (A)-( ), B)-( 1), (C)-(1), (D)-(IV)

Options :

92090622397. 1



92090622398. 2
92090622399. 3
92090622400. 4



